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Solving Sequence

Ideals for irreducible component#ﬂ)f Xpar

(—u® +u® —2u* —2u? +b—2u—1, —u” + 3u® — 3u® + 2u* + 2u® — u® + 3a + 6u + 3,

u® — 3u” + 6u’ — 5u’ + 4ut + u® + 3u 4+ 3)

(—2u® 4 10u® — 24u” + 38u® — 49u® + 52u* — 32u® — w? + b + 14u — 5,

5u® — 23u® + 55u” — 86u’ + 112u° — 116u* + 73u® 4+ 2u® + a — 29u + 11,

u'® — 5u® + 13u® — 2207 4 30u® — 33u® + 25u? — 6u® — 6u® + 5u— 1)

(—u® —2u* —4u® = 3u® +b—2u+1, —u® — 4u® — 11u" — 1908 — 250 — 22u* — 144> — 50 +a —u — 1,
u'® 4 40 + 110 4 1907 + 25u8 + 210® + 120 + u® — 2u? —u + 1)

(=3u® — au — 5u? + b — 3u + 4, 4uta + Tula +u® + a® + bau + 2u® — ba+u — 2, ut +u® — 2u+ 1)
(—au+b+u+1, a*+au—2u—1, u* +u+1)

(b—2,a+1, ut1)

b+1, a—2, u+1)

(b—1,a+1, ut+1)

={(a, b—1,v-1)

* 9 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LIP=(—ut+4u—2u*—2u?+b—2u—1, —u” +3ub+-..

3u” + 6u® — 5u’ + 4u* + u® + 3u + 3)

(i) Arc colorings

o ()

1
ag = 0
1
a3: _u2
%u7—u6+---—2u—1
ag = \yb — P +2u* +2u2+2u+1
R e RS
ag = \ub —u® +2ut + 202 +2u+1
—§u7+2u6+~-~+2u+2
a7 = \ —y” —u® —2u* — 3u® —3u? —4du —2
—%u7+u6—|—~~-—§u2+1
a6 = \ —uS +u® —2u* —ud —u? —3u—2
§u7 §u4—|—---—§u2—u
a11 = \ " —2u8 + 3u® —ut + ud +u? —
20T =28+ —u—1
a10 = \ " — 2ub + 3u u4—|—u +u?—1
-2 7+2u + 4 2u 2
as = \ —2u” + 3u® — 4u® — 2u3 — 2u® + 1
%u7—u +t+u+1
az = \ b —u® 4+ 2ut + u? +2u +4u+ 2
3 TS w1
a2 = \ub —u® 4+ 2ut +u? +2u +4u+2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u” + 6u® — 12u® + 12u* — 8u® + 2u? — 6

+3a + 3, u® —



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u® —u” 4 9ub — 4u® + 26u* — 2u3 + 28u? + 10
€2, 5, €8 W — a5 4t — 3P+ 4 — w1
C11
c3,Cg, Cy u® — 3u” 4 6u’ — 5u’® + dut +u® + 3u+3
€4, €10 u® 4 6u” + 2008 4 42u° 4 68u? 4 82u> + T4u® + 32u + 8
cr u® 4 2u” 4+ 9u® + 10u® + 31u* + 30u® + 27u? + 26u + 12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y® +17y" + -+ + 560y + 100
C2,Cs5, Cg

y® — 9y” + 3445 — 55¢° + 14y + 25¢° + 18y% + Ty + 1
C11

¢s, Cg, Co y® 4+ 3y" + 1495 + 2995 + 505" + 65¢° + 18y — 9y + 9
8 7 6 5 4 3 2
€4,C10 Y- +4y" + 32y + 120y° + 328y~ + 972y° + 1316y~ + 160y + 64
€7 y® + 14y" 4 103y° + 392y° + 767y* + 470y> — 87y? — 28y + 144




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.010055 + 1.1176001
—0.471916 — 0.3476111
—0.383744 + 0.5309091

5.09476 4 1.309321

—1.82878 — 5.390601

0.010055 — 1.1176001
—0.471916 4 0.3476111
—0.383744 — 0.5309091

5.09476 — 1.309321

—1.82878 + 5.390601

—0.576935 + 0.2958271
0.469090 — 0.6744071
0.071127 — 0.5278591

—0.769995 + 1.1586001

—7.36601 — 5.922761

—0.576935 — 0.2958271
0.469090 + 0.6744071
0.071127 + 0.5278591

—0.769995 — 1.1586001

—7.36601 + 5.922761

0.97820 + 1.190051
—0.587535 + 0.8127661
1.54196 — 0.095851

—10.45920 — 2.834051

—9.78328 4 2.026201

0.97820 — 1.190051
= —0.587535 — 0.8127661
1.54196 + 0.095851

—10.45920 + 2.834051

—9.78328 — 2.026201

= 1.08868 4 1.105581
1.090360 — 0.4905001
—1.72934 — 0.671481

—11.1373 — 13.15021

—9.02192 + 6.516681

1.08868 — 1.105581
1.090360 + 0.4905001
—1.72934 + 0.671481

> Q@ S|l @ €| & 8|l & 8| @ €| & €| & &8> & &

—11.1373 + 13.15021

—9.02192 — 6.516681




II.
Iy = (—2u?4+10u®+---+b—>5, 5u?—23uB+- . -4+a+11, u'®—5u’+.--+5u—1)

(i) Arc colorings

- ()
)

ay4 =

;)

az =

ag =

—5u® +23u® + -+ +29u — 11
2u? — 10u® + 244" — 38ub + 49u® — 52u* + 3203 + w2 — 1du+5

3u? + 13u® — 31u” + 4848 — 63u® + 64u? — 41u® — u? + 15u — 6
2u? — 10u8® + 24u” — 38w + 49u® — 52ut + 32w + w? — 1du+5

3u? +15u — 38u” + 61u® — 80u® + 85u* — 58 + u? +22u9>

ag =

<

(

<

g

( 9

( 4u® + 17u® — 39u” + 58ub — 750’ + Tdut — 42u — 9u® + 1Tu — )
ol

-

(%

(v

a7 = —u? 4+ 3u® —3u" +ub —4ut + 130 —8u —4u+3
ag = 2u? — 9ud + 2207 — 34ub + 44u® — 45u* + 294 4+ 3u? — 13u+ 4
2u? — 9ud + 210" — 328 + 42u® — 43u* + 26w + 2u? — 8u + 5
u? 4+ 5ud — 1207 + 18u% — 23u® + 24u* — 14u® — 4u® + 6u — 2
u? — 4u® + 9u” — 14u8 + 19u® — 19u* + 12u® — 2u? — 2u + 3
w? + 5u® — 1207 4+ 18uS — 23u® + 24u* — 14u® — 4u? + 6u — 2
4u® 4+ 17u® — 38u” + 56u® — 72u® + T1u* — 38u® — 9u® + 15u — 4
as = w? — 7ud + 19u” — 3148 + 40u® — 45u* + 31u® + 2u? — 13u+ 4
u” — 3ub + 5u’® — 6ut + 8ud — Hu? —u+2
az = w? + 4u® — 8u” + 11u® — 14u® + 13u? — 4u® — 3u?2 +3u—1
u” — 3ub + 5u’® — 6ut +8ud —Hu? —u+2
a2 = \ —y9 + 448 — 8u” + 110’ — 14u® + 13u* — 4u® — 3u2 + 3u—1
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —7u? 4+ 30u® — 69u” + 104u’ — 134u® + 134u* — 76w — 14u? + 35u — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u® + 2u® — 2u? — u + 1)?
€2, 5, C8 u'® —u® — 6u® 4 6u” + 1508 — 19u° — 10u? + 170° —u 41
C11
c3,Cg, Cy u'® — 50 + 13u® — 2207 + 30u® — 33u® + 25u* — 6u> — 6u® +5u—1
€4, C10 (u® + 4u* + 9u® + 11u? + 10u + 4)?
¢ (u® — ut + 5u® — 2u? — 2u + 3)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 (v° + 4y +2y° — 8y* + 5y — 1)°
€2,C5,C8 0 — 13+ —y+1
C11
¢s, Cg, Co Y0 4+ + 9% + 1697 + 26y° + 39y° + 63y* — 669> + 469> — 13y + 1
€4, C10 (y° + 2y* + 133 + 27y% + 12y — 16)?
e (y° +9y* + 17y® — 18y* + 16y — 9)*




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u= 0.625622 4 0.3711171
a= 1.85638 —0.017981

b= —1.168060 — 0.6776851

2.23236 — 3.665841

—2.77098 — 1.999031

u= 0.625622 —0.3711171
a= 1.85638+ 0.017981
b= —1.168060 + 0.6776851

2.23236 + 3.665841

—2.77098 + 1.999031

u = —0.347234 4 1.3355001
a= 0.191634 — 0.1929571
b= —0.191152 — 0.3229297

2.23236 + 3.665841

—2.77098 + 1.999031

u = —0.347234 — 1.3355001
a= 0.191634 4 0.1929571
b= —0.191152 + 0.3229291

2.23236 — 3.665841

—2.77098 — 1.999031

u = —0.531946
a= 0.830218
b= 0.441631

—1.48837

—17.29890

u = 1.14606 + 0.921191
a = —1.184760 + 0.3835441
b= 1.71113 + 0.651821

—11.35780 — 4.968501

—10.07956 + 2.533161

= 1.14606 — 0.921191
a = —1.184760 — 0.3835441
b= 1.71113 — 0.651821

—11.35780 +- 4.968501

—10.07956 — 2.533161

u= 116790 + 1.058931
0.714063 — 0.7148671
b= —1.59095 4 0.078751

a =

—11.35780 +- 4.968501

—10.07956 — 2.533161

u= 116790 — 1.058931
0.714063 + 0.7148671
b= —1.59095 — 0.078751

a =

—11.35780 — 4.968501

—10.07956 + 2.533161

u = 0.347235
a = —2.98485
b= 1.03645

—1.48837

—17.29890




IIL IY =
(—u®—2u*—4ud —3u?+b—2u+1, —u®—4ud+-.-+a—1, u'®+4u+. . —u+1)

(i) Arc colorings

o ()

aqs =
az =

ag =

u? 4+ 4ud + 1107 + 1968 + 25u° + 220 + 14u® + 50 +u + 1
w4+ 2ut +4ud +3u +2u—1

uw? + 4u® + 1107 + 1968 + 26u® + 24u* + 18u® + 8u? + 3u>

asg = wH2ut +4ud + 3 +2u—1

u? + 4ud + 100 + 16w’ 4+ 19u® + 15u* + 9u® + 4u? + 2u + 1

ar = ( u? + 3u® + Tu” + 9ub 4 10u° + 6u® + 5u® + 2u® + 2u — 1 )

—u" — 3ub — 6ud — 6ut — 4ud + u? + 2u
u” + 3ub + Tu® + 9ut + 9u + 3u® —3
ud 4+ 3u” + Tub + 9u® + 9u* + 3u® — 2u

u® + 4u” + 10u® + 16u® + 18u* + 12u® + 3u? — 2u — 3
u® + 3u” + 7Tub + 9u® + 9ut 4+ 3u — 2u

—ud —4u” — 11u — 1845 — 22u* — 15u® — 5u2 + 4u + 3
—u” —3ub — 6w’ — Tut — 5u + 2u

u? + 5u® + 1447 + 2618 + 34u® + 30u* + 15u® — 6u — 3 )

—u® — 4u” — 11ub — 18u® — 22u* — 15u3 — 6u? + 3u + 2)

u? + 4u® + 10u” + 16u® + 18u® + 12u* + 3u?® — 3u? — 2u

u® + 5ud 4 14u” + 26ub + 34u® + 30u* 4 15u® — 6u — 3
uw? + 4u® + 10u” + 16w + 18u® + 12u* + 3u® — 3u2 — 2u

(ii) Obstruction class =1

(iii) Cusp Shapes = —u? + u® + 4u” + 16uS + 20u® + 28u* + 12u® + 12u® — 3u — 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 u'® 4 508 + 8u® + 3ut + 2u? + 4
C2 ul® —2u® — 20" + S+’ +5ut + 20 — 20 —u+ 1

c3,Co w'® 4+ 40 + 118 + 190" 4+ 2568 + 210° + 120 + 0 — 2?2 —u+ 1

C4,C10 w4l +ub — Tt — 2w+ 4

Cs, €8, C11 wl® —2u® 20" + b —w® +5ut — 20 — 20t Fu+1

Co u'® — 4u® 4+ 1168 — 190" + 2508 — 210° + 12u* —w?® — 20 +u 41
7 (u® —u* +3u® +1)2

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y° + 5yt + 8y + 3y + 2y + 4)2
€2, 05’6?? y'0 — dy® +6y° + 2y" — 19y + 27y° + 9y* — 20y + 18y* — 5y + 1
€3, C,y Cy y' +6y” +- — 5y +1
¢4, ¢10 W +4y* +y° — Ty® — 2y +4)?
¢ (y° + 5y* +9y° + 2y — 1)?

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.731699 4 0.5722201
a= 1.48078 + 0.145461
b= —1.166730 4 0.7408971

2.01963 + 4.25086.1

—7.08888 — 9.278941

u = —0.731699 — 0.5722201
1.48078 — 0.145461
b= —-1.166730 — 0.7408971

a =

2.01963 — 4.250861

—7.08888 + 9.278941

u = —0.344685 4 1.2131601

a = —0.136245 + 0.6137671 | 4.38002 —7.67593 4+ 0.1
b= —0.697636 — 0.3768431
u = —0.344685 — 1.2131601
a = —0.136245 — 0.6137671 | 4.38002 —7.67593 4 0.1

b= —0.697636 4 0.3768431

u = —0.23712 + 1.409191
a = —0.238288 — 0.2978621
b= 10.476249 — 0.2651651

2.01963 + 4.25086.1

—7.08888 — 9.278941

u = —0.23712 — 1.409191
a = —0.238288 + 0.2978621
b= 0.476249 + 0.2651651

2.01963 — 4.250861

—7.08888 + 9.278941

u = —1.04039 + 1.046111
a = —0.849900 — 0.5316991
b= 1.44044 — 0.335921

—4.20964 + 3.821881

—5.57316 — 2.678331

u = —1.04039 — 1.046111
a = —0.849900 + 0.5316991
b= 1.44044 + 0.335921

—4.20964 — 3.821881

—5.57316 + 2.678331

u = 0.353890 4 0.1966971
a= 1.24365 + 2.503551
b = —0.052327 + 1.1306001

—4.20964 — 3.821881

—5.57316 + 2.678331

u = 0.353890 — 0.1966971
a= 1.24365 — 2.503551
b= —0.052327 — 1.1306001

—4.20964 + 3.821881

—5.57316 — 2.678331
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IV.
I} = (—3u®—au—5u?+b—3u+4, 4datu®+-.-—5a—2, u*+u®—2u+1)

(i) Arc colorings

o ()

as =
az =

a
ag = 3u3+au+5u2+3u—4)

3u3+au+5u2+a+3u—4>

ag = 3ud +au+5u? +3u—4

—uwda—ula—ud —2ul+a—u+2

(
(
(
(
ar = ( u3a+2u2a+4u3+7u2+5u—7)
(
(
(
(
(

—au+u? +a+2u
—3u3a—5u2a—u3—3au—u2+4a+1>

—2u3a — 3u?a — ud — 2au — 2u? —|—2a—u—|—2>

1

—3ua — 5ula — u® — 3au — u? + 4a + 2)
1

—3ua — 5u?a — u® — 3au — u? + 4a + 3)
1

—2ua — 3u?a — u® — 2au — 3u?2+2a—3u+1
wda + 2u2a + au — 2u? —2a —u —1

—2u3a — 3u?a — u® — 2au — 3u? +2a — 3u+1
wda 4+ 2u2a + au — 2u? —2a —u—1

as =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u? + 16u? + 8u — 30

14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u* +u? 4 6u? + du +7)2
€2,C5, C8 u 4 u” +u 4w’ — 14ut — 1163 + 250 + du + 1
C11
€3, C6, C9 (u* +u® - 2u+1)?
C4,C10 (u — 1)8
€7 (u* + 9u* + 6u + 12)?

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y* + 11y® + 42y* + 68y + 49)?
€2, 5, C8 y® 447 — 20y5 + 43y° + 262y — 827y3 + 685y + 34y + 1
C11
€3, C6, Cg (y? — 3 + 6y% — 4y + 1)?
€4, C10 (y—1)%
cr

(y* + 18y° + 105y + 180y + 144)?

16



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.621964 + 0.1877301
—0.196231 — 0.2224031
0.06811 + 2.189391

—4.93480 — 4.059771

—18.0000 + 6.92821

0.621964 + 0.1877301
—1.07414 — 3.195911
0.080297 + 0.1751651

—4.93480 — 4.059771

—18.0000 + 6.92821

0.621964 — 0.1877301
—0.196231 + 0.2224031
0.06811 — 2.189391

—4.93480 + 4.059771

—18.0000 — 6.92821

0.621964 — 0.1877301
—1.07414 + 3.195911
0.080297 — 0.1751651

—4.93480 + 4.059771

—18.0000 — 6.92821

—1.12196 + 1.053761
—0.740048 — 0.4753811
1.68284 — 0.479991

—4.93480 + 4.059771

—18.0000 — 6.92821

—1.12196 + 1.053761
1.010420 + 0.5211741
—1.331240 4 0.2464701

—4.93480 + 4.059771

—18.0000 — 6.92821

—1.12196 — 1.053761
= —0.740048 + 0.4753811
1.68284 + 0.479991

—4.93480 — 4.059771

—18.0000 + 6.92821

—1.12196 — 1.053761
1.010420 — 0.5211741
= —1.331240 — 0.2464701

> Q@ S|l Q@ 8| @ 8|l @ €8> @& 8| @ 8|l & 8| o &
|

—4.93480 — 4.059771

—18.0000 + 6.92821
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V. I =(—au+b+u+1,a>+au—2u—1, u> +u+1)
5

(i) Arc colorings

o= (1)

1
ayg = 0
1
a3 = \u+1
a
a9 = \au—u—1
au+a—u—1
ag = au—u—1
au+a—u
ar = au
2au+a—u
a6 —a+1
au+a—u—2
a11 = 1
au+a—u—1
aip = 1
au+a—u
as = 1
2au +a — 2u
ag = au+u—+1
2au + a — 2u
az = au+u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —8u — 10

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1 ut —3ud + 4u? + 1
Co,C5,C
275,78 ut —ud —2u? +3
C11
2 2
c3,Cg, Cy (u*+u+1)
4

€4, C7, C10 (u—1)

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 yt— P 18y  + 8y + 1
€2,C5,C8 yt —5y° +10y* — 12y +9
C11
€3, C6, Cy (v* +y+1)°
4
C4,C7,C10 (y - 1)

20



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

u = —0.500000 + 0.8660251
a= 1.085370 + 0.4740961 | —1.64493 4 4.059771 | —6.00000 — 6.928201
b= —1.45326 — 0.163111

u = —0.500000 + 0.8660251
a = —0.58537 — 1.340121 —1.64493 + 4.059771 | —6.00000 — 6.928201
b= 10.953264 — 0.7029111

u = —0.500000 — 0.8660251
a= 1.085370 — 0.4740961 | —1.64493 — 4.059771 | —6.00000 + 6.928201
b= —1.45326 + 0.163111

u = —0.500000 — 0.8660251
a = —0.58537 + 1.340121 —1.64493 — 4.059771 | —6.00000 + 6.928201
b= 10.953264 + 0.7029111

21



(i) Arc colorings

o (%)

ay4 =
az =
ag =

ag =

<
(
(

(
i ()
<
(

(
<
(

VLI =(b—-2,a+1, u+1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C
1,€3,C6 u+1
C9
C2,Cs5,Cg u+2
€4, €10, €11 u—1
7 u+3

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
€6, C9, C10 y—1
11
C2,C5,Cs y—4
Cy y— 9

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a = —1.00000 —4.93480 —18.0000
b= 2.00000

25



VIL. I =(b+1,a—2, u+1)

(i) Arc colorings

o (%)

e ()
e (1)
e (2)
e (1)

1
ar = \ -1
e
- (1)
o= (1)
o= (1)
w=(0)
°
w-(0)
(ii) Obstruction class = —1

(iii) Cusp Shapes = —18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,Ce u+1
Cg
C2,C4,Cs u—1
g, C10
Ccr U
C11 u+ 2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4, C5, Cg Y- 1
€8, C9, C10
Cyr y
c11 y—4
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a = 2.00000 —4.93480 —18.0000
b = —1.00000
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VIIL. I =(b—1, a+ 1, u+1)

(i) Arc colorings

o (%)

ay4 =
az =
ag =

ag =

<
(
(

(
- (3)
<
(

(
<
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,C10 U
Co,Cg u—1
C3a C5a C7 U _|_ 1
€8, C9, C11

31



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
€1, C4, C10 Y
C2,C3,Cs5
C6, C7, C8 y—1
Co, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a = —1.00000 —3.28987 —12.0000
b= 1.00000
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(i) Arc colorings

o= (o)

IX. I? =(a, b—1, v —1)

1
ayg = 0
1
az = 0
0
ag = 1
1
ag = \1
0
a7 = \1
0
ag = \1
1
aj; =\ -1
0
aio =\ —1
1
as = \1
0
ag = —1
0
a9 = -1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4
C5,C7,C8 utl
€10, C11
€3, C6, Co U
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
C5,C7,C8 y—1
€10, C11
€3, C6,C9 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = 1.00000
a= 0 —1.64493 —6.00000
b= 1.00000
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Crossings

X. u-Polynomials

u-Polynomials at each crossing

C1

u(u+1)3(u* — 3u® 4+ 4u? + 1) (u* + u® 4 6u? 4 4u + 7)?
(P 4 2u = 2u? — w4 1)?

C(u® — " 4 9u® — 40P 4 26ut — 2u® + 28u? + 10)
(u'® + 5u® + 8ub + 3u? —|—2u2+4)

C2

(u—1)%(u+ 1) (u+2)(u* —u® —2u? + 3)

~(u8—u7—4u + 5u® 4+ 4ut — 3u® + 4w —u+1)
u® +u” +ub o’ — 140’

u10—2u —2u" 4+ u® +u® +5ut +2u® — 2u? —u+1)
10 _

- — 11u® + 25u® + 4u + 1)
(
(u 9 —6u® 4 6u” 4 15u° — 19u° — 10u* + 1703

€3, C9

—u+1)
u(u+1)3(u? +u+ 1) (u* +u? —2u+1)2
u® — 3u” + 6u’ — 5ud + 4ut + u® 4 3u + 3)

- (u®
(u10 —5u? + 13u® — 220" + 30u’ — 33u® + 25u* — 6u® — 6u® + 5u — 1)
- (u!

u'® + 44° + 11u® + 1947 + 25u® + 21u° + 12u* + o3

C4,C10

—2u? —u+1)

w(u — DM (u+ 1) (0’ + du* + 9u® + 11u® + 10u + 4)?
(u® 4 6u” + 200’ + 42u” + 68u* + 82u® + T4u? + 32u + 8)
(w0 4 4u® + ub = Tut — 202 +4)

Cs5,C8,C11

(u—1)(u+1)*(u+2)(u* —u® - 2u* +3)

u® —u” — 4ub + 5u® + dut — 3u + 4u® —u+ 1)
8 4

u T 4wl 4w — 14ut — 11u® + 25u® + du + 1)

(

(

(u10—2u +2u” +ub —u® +5ut — 20 — 2u? Fu 1)
(10

(

u —6u® + 6u” + 15u8 — 19u° — 10u* + 17u® —u + 1)

C6

u(u — )u—i—l) (u? +u+ )(u +u® — 2u 4 1)?
u® — 3u” + 6u’ — 5ud + 4ut + u® 4 3u + 3)

u® — 5u” 4+ 13u® — 2207 + 30u’® — 33u® + 25u* — 6u3 — 6u? + 5u — 1)
u 4u® + 11u® — 19u” + 256 — 210° + 120

—u® —2u® fu+1)

C7

(
(
(10
(

u(u — D w4+ 1)%(u + 3)(u? + 9u? + 6u + 12)% (u® — u* + 3u® +1)?

S(u® —ut + 5ud — 2u? — 2u + 3)?
(u® 4 207 + 9u® + 100 + 31ut + 30u® + 27u? + 26u + 12)
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Crossings

XI. Riley Polynomials

Riley Polynomials at each crossing

C1

y(y —1)3(y* — 3> + 18y + 8y + 1)(y* + 11y> + 42> + 68y + 49)?
(y® + 4yt +2y% - 8y + 5y — 1)2(y° + 5yt + 8y + 3y + 2y + 4)?
(y® +17y" + - - - 4 560y + 100)

C2,Cs5,Cg

C11

(y—4)(y = 1)°(y" = 5y° +10y* — 12y +9)

(Y — 9y" + 34y — 55y + 14y + 25¢° + 18y + Ty + 1)

Sy +y" - 29y° + 43y° + 262y* — 827y + 685y + 34y + 1)

Sy =13y 4=y +1)

(y" — 4y° + 6y° + 247 — 19y° 4 2745 + 9y* — 205° + 18y — 5y + 1)

€3, Cq, Cy

yy -1 +y+ 1% =y +6y° —dy +1)°

(y® 4 3y" + 14y° + 2995 + 50yt + 659> 4 18y% — 9y + 9)

(' 4”4 9y° + 16y7 + 26y° 4 39y° + 63y* — 66y° + 461> — 13y + 1)
(' +6y° - —By+1)

C4,C10

yly — 1) (y° + 25" 4 13y° 4 27y% + 12y — 16)2
Syt Y - Ty -2y +4)?
(y® + 4y" 4+ 32¢° + 120y° + 328y* + 97243 + 1316y> + 160y + 64)

C7

yly —9)(y — 1) (y* + 18y® + 105y% + 180y + 144)2
S(y® + 5yt +9y3 + 207 — 1)%(y° + 9yt + 17y — 18y* + 16y — 9)?
(y® + 14y + 103y° + 39245 + 767y* + 470y — 87y — 28y + 144)
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